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Answer any six sub-questions. Each sub-question carries two marks :
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Instruction : Answer should be written either in English or Kannada.

SECTION-A
(6x2=12)
a) An article is quoted at ¥ 1,025 was sold at a discount of 12%. Find the
selling price.
b) Find the third proportional to 2 : 6.
c) Solve forx; x+3 (3x+1)=13.
d) What is diagonal matrix ?
e) Divide ¥ 800 between A and B in 1 : 3 ratio.

f) Mean and variance of 100 items are found to be 40 and 121. What is its
CV.?

g) Find mean of 5.8, 2.3, 8.7, 3.5.
h) Ifr=0.9, \/x =10, Jg =1.5, calculate bxy and byx.

SECTION -B
Answer any three of the following questions. Each question carries
four marks : (3x4=12)
2. In how many years will Rs. 4,000 amount to Rs. 4,500 at 3% p.a. compound
interest ?
3. Solve for x : e :5..2"11.

40 men can do a piece of work in 90 days. How many men will be required to
do the work in 50 days ?

Calculate median
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6, You é_re givén the following data :

Variable X Y
Mean 47 96
Variance 64 81
Correlation co-efficient between X and Y 0.36
Calculate the regression equation X on Y.
SECTION-C

Answer any three of the following questions. Each guestion carries
twelve marks : (3%12=36)

7. a) 9 tables and 8 chairs cost X 5,280, 8 tables and 12 chairs cost X 5,280.
Determine the cost of each table and of chair.

3
b) Find the inverse of B ° ;
5 12

8. a) Solve by Crammer’s rule :
5x -3y =24
—7x+1 1y = 14.

3 1 - 3
b) If A= 8-12 and c=|? 2| verifyA(B+C)=AB+AC.
4 2 3 1 4 1

9. a) In an examination a candidate who secures 25% of the maximum marks
fails by 60 marks. But another candidate who secure 42% of the maximum
marks gets 8 marks more than necessary for passing. Find the maximum
marks and the percentage necessary for passing.

b) Calculate Karl Pearson’s correlation coefficient from the following data :

X 5 T 11 14 17 19 23 27 30
Y 2 11 14 14 17 24 21 25 27

10. The goals scored by two teams A and B in football matches were as follows :

Goals 0 : > 3 4
TeamA | 27 9 8 4 5
Matches oo mB| 17 9 5 5 3

Find the team which is more consistent.

11. Find out mean and median marks from the following. Using empirical relationship
calculate mode.

Marks below 10 | 20 | 30 | 40| 50 | 60 70 | 80
No. of Students | 25 | 40 | 60 | 75| 95 | 125 | 190 240
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5x -3y =24
~7x + 11y = 14.

3 2 2
b) A= B= e
4 2 3 1] ° 4 1

A (B +C) = AB + AC 3ot m0deER.
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X 5 7 11 14 7 19 23 27 30
Y 9 11 14 14 17 24 21 25 27

10. P’ SR DNTY, A 022 B 308N TS iteeeny s 83 FPTOROSE

RRELINALD 0 1 2 3 4
[ Asom 27 9 8 4 5
Ry R e 17 9 6 5 3
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